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c\I DIPLOMA IN MEAT TECHNOLOGY (DMT) 

0 	 Term-End Examination 

June, 2016 

BPVI-023 : FRESH MEAT TECHNOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Answer any five questions. All questions carry equal 

marks. Question Number 1 is compulsory. 

1. Answer briefly (Any ten) : 	 10x1=10 
(a) Calpains 

(b) Marination 
(c) Rigor mortis 
(d) Marbling 
(e) WHC 

(f) Chilling 

(g) Thawing 
(h) Thaw rigor 

(i) Carcass 
0) Conformation 
(k) Freezer burn 

Drip 

2. Write on structure of a skeletal muscle with a 
suitable diagram. What is smooth muscle ? 8+2=10 

3. What are the biochemical postmortem changes 
that occur in a muscle during formation of 
meat ? What is conditioning of meat ? 6+4=10 
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4. Write about chemical composition of meat. What 
is meat fat ? 	 8+2=10 

5. What is tenderness of meat ? Write the methods 
of making meat tender. What is rib eye area ? 

2+6+2=10 

6. Draw the wholesale cuts of a goat carcass (Indian 
method). What are the objectives of cutting 
meat ? 	 6+4=10 

7. What do you mean by functional quality and 
sensory quality of meat ? What are the 
post-slaughter factors affecting meat quality ? 
Comment on meat colour. 	 3+4+3=10 

8. Write a note on 'meat cooking'. What is cold 
shortening ? What do you mean by Indian meat 
grading system ? 	 3+3+4=10 
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1. 10x1=10 

2. 	cnctai '4711 	tivciii 	d -ca (sti -c r4 	tizitial 14 
fffrgiR I f*--11'47ft 	t? 	 8+2=10 
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? 	 6+4=10 

4 . 1111, 	twii 	TtzlYA7 	•Wig7 I 	k:11• IT t ? 
8+2=10 
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